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Why did Henry VIII Divorce Catherine of Aragon?

Name: ______________________           Date: _____________
Fill in the missing word from the box below.

1) In Tudor times not many people got a ………………

2) Henry desperately wanted a …………

3) The son was to be Henry’s ………… to the throne.

4) Catherine of …………… didn’t have a son that survived and Henry was furious.

5) Henry …………… with the Pope in an attempt to divorce Catherine.

6) The Pope refused so Henry broke away from the Catholic Church and formed the ……………………………………

7) Catherine died on ………………………..
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